
 

Maths. Subtraction 2nd Class.  

Example 1. Without Renaming.  

 

 

 

 

 

Example 2. With Renaming.  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

      T     U                

      7     8              8 can take 6 and the answer is 2 

   -  4     6              7 can take 4 and the answer is 3 

      3    2 

 

      T     U  

      8     3                3 cannot take 4.      

-    2     4                But 83 can of course take 24.  

     5     9                 I need to bring over 1 ten to my units. 

                               Cross out my 8 and leave 7 tens.  

                               Bring over 1 ten and now I have 13.  

                                 13 – 4 = 9          7 – 2 = 5 

 

 

 

 

 

7 1 



 

Remember ask yourself can or cannot take?  

Use your hundred square or a number line if you 

need to.    

  T      U               T      U                T      U   

   4      6               8       9                7      7 

-   2       8             -   4       3              -  2       4  

 

   T       U                  T       U                  T       U  

   7        8                  5        7                 8         6 

- 4         9              -  1        9               -  5        2 

 

   T       U                 T         U                  T       U  

   4        5                 2         7                  8        4 

-  1        8              -            9                -  6       1 

 

 

 

 

 



 

Word Problems. 

Amy cooked 42 pies.  

She sold 18 of the pies.  

How many pies had she left? 

 
There were 64 apples in a box.  

Robbie took 19 out of the box.  

How many apples were left?  

 

Subtract 29 from 53.  

 

 

 

The farmer had 72 sheep.  

He sold 35 of them.  

How many had he left?  

Take 38 from 68.  

 

 

 



There were 50 birds on a line.  

23 flew off.  

How many were left on the line? 

 

A baker baked 89 cakes.  

He sold 65 cakes.  

How many had he 

 left?  

 

From 75 take 66.  

 

 

 

 

Sarah had 67 books on her shelf.  

She gave 38 to a charity shop.  

How many books has she left?  

 
There were 97 children in the hall.  

69 of the children went  

back to class.  

How many children are still  

in the school hall?  

 



There were 56 eggs in a box.  

19 of the eggs were broken. 

How many were not broken?  

 
Ciara had 32 Pokémon cards.  

She gave 7 to Sam.  

How many has she now?  

 

From 65 take 32?  

 

 

 

  

 

 

 

 

 

 



Subtraction Test. Second Class.  

Try this test to see how you are doing.  

 T U   T U   T U   T U  

 3 6   9 5   5 1   7 7  

- 1 8  - 6 2  - 4 3  - 2 4  

                

                

 T U   T U   T U   T U  

 1 9   9 6   5 8   6 4  

- 1 4  - 3 7  - 1 9  - 2 9  

                

                

 T U   T U   T U   T U  

 7 4   4 7   6 1   3 4  

- 4 6  - 1 8  - 1 7  - 1 7  

                
 

Score: ___/12 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 


